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Question Numbers : (1 to 5)
Question Label : Comprehension



She thinks how she fought a flood during her husband's absence. She stood for hours in the drenching
downpour. and dug an overflow gutter to save the dam across the creck. But she could not save it. There are
things that a bushwoman cannot do. Next morning the dam was broken. and her heart was nearly broken too.
tor she thought how her husband would feel when he came home and saw the result of years of labour swept
away. She cried then.

She also fought the pleuro-pneumoma - dosed and bled the few remaining cattle, and wept again when her two
best cows died.

Again. she fought a mad bullock that besieged the house for a day. She made bullets and fired at him thorugh
cracks in the slabs with an old shot-gun. He was dead in the morning. She skinned him and got seventeen-and-
sixpence for the hide.

She also fights the crows and eagles that have designs on her chickens. Her plan of campaign is very original.
The children cry "Crows. mother!" and she rushes out and aims a broomstick at the birds as though it were a
gun. and says "Bung!" The crows leave in a hurry: they are cunning, but a woman's cunning is greater.

Ocassionally a bushman in the horrors, or a villaimnous looking sundowner. comes and nearly scares the life out
of her. She generally tells the suspicious-looking stranger that her husband and two sons are at work below the
dam. or over at the yard. for he always cunningly mquires for the boss.

Sub questions

Question Number : 1 Question Id : 68634010639 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |She saves the dam [. By aiming a broomstick
B. |She fought a mad bullock II. |The skin of the bullock
C. |5he fought the crows and eagles| II1. [By firing bullets
D. |She =old IV. By digging an overflow gutter

Choose the correct answer from the options given below:

1. A-TII. B-1. C-IV, D-I1

| )

CA-IL B-IV. C-1, D-III
3. A-IV. B-1. C-TII. D-II
4. A-IV, B-111, C-I. D-II

Options :

68634042001. 1
68634042002. 2
68634042003. 3
68634042004. 4

Question Number : 2 Question Id : 68634010640 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How did 'she’ kill the mad bullock?

1. She hit him with a broomstick

2

. She skinned him and he died
3. She fired bullets with an old shot gun
4, She fought with it and hit him hard
Options :
68634042005. 1
68634042006. 2

68634042007. 3
68634042008. 4

Question Number : 3 Question Id : 68634010641 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

She fought with the crows and eagles because

1. They were making a lot of noise

[

. They wanted to tease her cattles
3. They were a nuisance

4. They wanted to eat her chickens

Options :

68634042009. 1
68634042010. 2
68634042011. 3
68634042012. 4

Question Number : 4 Question Id : 68634010642 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the best option:

From the passage it can be said that 'SHE' is a lady:.

1. Suspicious

b2

. Cruel
3. Brave
4. Sensitive

Options :
68634042013. 1



68634042014. 2
68634042015. 3
68634042016. 4

Question Number : 5 Question Id : 68634010643 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In the sentence. "They are cunning. but a woman's cunning 1s greater 'THEY" refers to

1. Cattles

[ )

. Chickens
3. Cows
4, Crows

Options :

68634042017. 1
68634042018. 2
68634042019. 3
68634042020. 4

Question Id : 68634010638 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

She thinks how she fought a flood during her husband's absence. She stood for hours in the drenching
downpour, and dug an overflow gutter to save the dam across the creek. But she could not save it. There are
things that a bushwoman cannot do. Next morning the dam was broken. and her heart was nearly broken too.
for she thought how her husband would feel when he came home and saw the result of years of labour swept
away. She cried then.

She also fought the pleuro-pneumonia - dosed and bled the few remaining cattle, and wept again when her two
best cows died.

Agam. she fought a mad bullock that besieged the house for a day. She made bullets and fired at him thorugh
cracks in the slabs with an old shot-gun. He was dead in the morning. She skinned him and got seventeen-and-
sixpence for the hide.

She also fights the crows and eagles that have designs on her chickens. Her plan of campaign is very original.
She also fights th d eagles that have desig her chickens. Her plan of g ginal
The children cry "Crows, mother!" and she rushes out and aims a broomstick at the birds as though it were a
gun. and says "Bung!" The crows leave in a hurry: they are cunning. but a woman's cunning is greater.

Ocassionally a bushman in the horrors, or a villainous looking sundowner. comes and nearly scares the life out
of her. She generally tells the suspicious-looking stranger that her husband and two sons are at work below the
dam, or over at the yard. for he always cunningly inquires for the boss.

Sub questions

Question Number : 1 Question Id : 68634010639 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1 LISTIT
A |She saves the dam I. |By aiming a broomstick
B. [She fought a mad bullock I1. [The skin of the bullock
C. |She fought the crows and eagles| II1. [By firing bullets
D |She sold IV By digging an overflow gutter|

Choose the correct answer from the options given below:

1. A-IIL. B-I. C-IV, D-I1

|

CA-IL B-IV. C-1, D-ITT
3. ATV, B-1. C-II1L, D-I1
4. A-IV. B-111. C-1. D-I1

Options :

68634042001. 1

68634042002. 2

68634042003. 3
68634042004. 4

Question Number : 2 Question Id : 68634010640 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

How did 'she’ kill the mad bullock?

. She hit him with a broomstick

—

b2

. 5he skinned him and he died

LFS]

. She fired bullets with an old shot gun
4. She fought with it and hit him hard

Options :

68634042005. 1
68634042006. 2
68634042007. 3
68634042008. 4

Question Number : 3 Question Id : 68634010641 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



She fought with the crows and cagles because

1. They were making a lot of noise

| B

. They wanted to tease her cattles
3. They were a nuisance
4. They wanted to eat her chickens
Options :
686340420009. 1
68634042010. 2

68634042011. 3
68634042012. 4

Question Number : 4 Question Id : 68634010642 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the best option:

From the passage it can be said that 'SHE' is a lady:.

1. Suspicious

| )

. Cruel
3. Brave
4, Sensitive

Options :

68634042013. 1
68634042014. 2
68634042015. 3
68634042016. 4

Question Number : 5 Question Id : 68634010643 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In the sentence. "They are cunning, but a woman's cunning is greater "THEY" refers to

1. Cattles

| B

. Chickens
3. Cows
4, Crows

Options :
68634042017. 1



68634042018. 2
68634042019. 3
68634042020. 4

Sub-Section Number : 2
Sub-Section Id : 686340355
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634010644 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The correct spelling is:

1. ACCOMODOTION

[ )

. ACOOMOODATION
3. ACCOMMODATION

4. ACAMODATION

Options :

68634042021. 1
68634042022. 2
68634042023. 3
68634042024. 4

Question Number : 6 Question Id : 68634010644 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The correct spelling is:

1. ACCOMODOTION

[ ]

. ACOOMOODATION
3. ACCOMMODATION

4. ACAMODATION

Options :

68634042021. 1
68634042022. 2
68634042023. 3
68634042024. 4

Question Number : 7 Question Id : 68634010645 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correctly spelt word from the following options is

1. AGOLOMARATE

| B

. AGGLOMERATE
3. AGLOMARATE

4. AGGLOMARETA

Options :

68634042025. 1
68634042026. 2
68634042027. 3
68634042028. 4

Question Number : 7 Question Id : 68634010645 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The correctly spelt word from the following options is

1. AGOLOMARATE
2. AGGLOMERATE
3. AGLOMARATE
4. AGGLOMARETA

Options :

68634042025. 1

68634042026. 2

68634042027. 3
68634042028. 4

Question Number : 8 Question Id : 68634010646 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The antonym of "CAPTIOUS" 1s:

1. Basic

[ )

. Detailed

Lad

. Capable

4. Tolerant

Options :
68634042029. 1
68634042030. 2



68634042031. 3
68634042032. 4

Question Number : 8 Question Id : 68634010646 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The antonym of "CAPTIOUS" 1s:

1. Basic

[ B

. Detailed

LIPS ]

. Capable
4. Tolerant

Options :

68634042029. 1
68634042030. 2
68634042031. 3
68634042032. 4

Question Number : 9 Question Id : 68634010647 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

One who helps you more than anything else when problems occur 1s:

1. Apple of one's eye

| B

. Sheet anchor
3. Alive and Kicking
4. Above board

Options :

68634042033. 1
68634042034. 2
68634042035. 3
68634042036. 4

Question Number : 9 Question Id : 68634010647 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



One who helps you more than anything else when problems occur 1s:

1. Apple of one's eye

| B

. Sheet anchor

LIF¥]

. Alive and Kicking
4. Above board

Options :

68634042033. 1
68634042034. 2
68634042035. 3
68634042036. 4

Question Number : 10 Question Id : 68634010648 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Replace the underlined part of the sentence with the correct option:

My mother bought ice-cream for my sister and me, but she didn't buy one herself.

1. for my sister and me. but she didn't buy herself one

b2

. for my sister and me. but she didn't buy one for herself
3. for my sister and myself. but she didn't buy one for herself
4. for my sister and I. but she didn't buy one for her

Options :

68634042037. 1
68634042038. 2
68634042039. 3
68634042040. 4

Question Number : 10 Question Id : 68634010648 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Replace the underlined part of the sentence with the correct option:

My mother bought ice-cream for my sister and me. but she didn't buy one herself.

1. for my sister and me. but she didn't buy herself one

2

. for my sister and me. but she didn't buy one for herself
3. for my sister and myself. but she didn't buy one for herself
4. for my sister and I. but she didn't buy one for her

Options :

68634042037. 1
68634042038. 2
68634042039. 3
68634042040. 4

Question Number : 11 Question Id : 68634010649 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-
/

Ravi invested certain sum on simple iterest, He invested two-third of his sum at 7% p.a and the remaining at
8% p.a. In 3 years he earned ¥1320 as interest. Find the sum invested by him (in 2).

1. 4000
2. 5000
3. 6000
4, 6400
Options :
68634042041. 1
68634042042. 2

68634042043. 3
68634042044. 4

Question Number : 11 Question Id : 68634010649 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-
/

Ravi mvested certain sum on simple mterest. He invested two-third of his sum at 7% p.a and the remaining at
8% p.a. In 3 years he earned 1320 as interest. Find the sum invested by him (i ).

1. 4000
2. 5000
3. 6000

4. 6400



Options :

68634042041. 1
68634042042. 2
68634042043. 3
68634042044. 4

Question Number : 12 Question Id : 68634010650 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In what ratio must a grocer mix tea leaves costing Rs.600/kg and rs.650/kg. So that by selling the mixture at
Rs.682/kg, he gams 10%?

1.3:2

[ ]
Lad
aha

4. 4:

LA

Options :

68634042045. 1
68634042046. 2
68634042047. 3
68634042048. 4

Question Number : 12 Question Id : 68634010650 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In what ratio must a grocer mix tea leaves costing Rs.600/'kg and rs.650/kg. So that by selling the mixture at
Rs.682/kg. he gains 10%?

1.3:2

L]
L]
L

4. 4:

L

Options :

68634042045. 1
68634042046. 2
68634042047. 3
68634042048. 4

Question Number : 13 Question Id : 68634010651 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If sec 5 A= Cosec A. then the value of A is

1.30°

| ]
—
L

=]

4.45°

Options :

68634042049.
68634042050.
68634042051.
68634042052.

AW N =

Question Number : 13 Question Id : 68634010651 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If sec 5 A= Cosec A. then the value of A is

1.30°

| ]
—
A

a

4.45°

Options :

68634042049.
68634042050.
68634042051.
68634042052.

AW N =

Question Number : 14 Question Id : 68634010652 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): If volumes of two spheres are in the ratio 125:64, then their surface areas will be in the ratio
25:16.

Reason (R): If volumes of two spheres are V. V, and their respective surface areas are 8. S,. then

]

=,
g

tad| b2

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3. (A) 18 correct but (R) 13 not correct
4. (A) 1s not correct but (R) 1s correct

Options :

68634042053. 1

68634042054. 2

68634042055. 3
68634042056. 4

Question Number : 14 Question Id : 68634010652 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): If volumes of two spheres are in the ratio 125:64. then their surface areas will be in the ratio
25:16.

Reason (R): If volumes of two spheres are V. V, and their respective surface areas are 8. S,. then

S (v P
$; (V2

In the light of the above statements. choose the most appropriate answer from the options given below:

[y

. Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

-2

. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

L]

. (A) 15 correct but (R) is not correct
4. (A) is not correct but (R) is correct
Options :

68634042053. 1
68634042054. 2



68634042055. 3
68634042056. 4

Question Number : 15 Question Id : 68634010653 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Twelve men can do a work in 8 days and 16 women can do the same work in 12 days. Eight men and § women
worked together for 6 days. How many additional men need to be employed to complete the remaining work
in one day?

1.8

| )
pL]

4.15

Options :

68634042057. 1
68634042058. 2
68634042059. 3
68634042060. 4

Question Number : 15 Question Id : 68634010653 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Twelve men can do a work in 8 days and 16 women can do the same work in 12 days. Eight men and § women
worked together for 6 days. How many additional men need to be employed to complete the remaming work
i one day?

1.8

[ B]
Rl

[F5]

8 i
4.15

Options :

68634042057. 1
68634042058. 2
68634042059. 3
68634042060. 4

Question Number : 16 Question Id : 68634010654 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many such pairs of letters are there in the word "YOUTUBE". which have as many letters between them
in the word as in the English alphabet?

1. One

| )

. Twao
3. Three

4, None

Options :

68634042061. 1
68634042062. 2
68634042063. 3
68634042064. 4

Question Number : 16 Question Id : 68634010654 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many such pairs of letters are there in the word "YOUTUBE", which have as many letters between them
in the word as in the English alphabet?

1. One

| )

. Two
3. Three

4. None

Options :

68634042061. 1
68634042062. 2
68634042063. 3
68634042064. 4

Question Number : 17 Question Id : 68634010655 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If PAPER 1s coded as OQEOQIQS. then the code for SINCE will be:

1. STOMOBDI

[ )

. RTOOMDIK

L]

. RTOMODDI

4. RTOMOBDI

Options :



68634042065. 1
68634042066. 2
68634042067. 3
68634042068. 4

Question Number : 17 Question Id : 68634010655 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If PAPER 1s coded as OQEOQQIQS. then the code for SINCE will be:

1. STOMOBDI

[ )

. RTOOMDIK

Lad

. RTOMODDI

4. RTOMOBDI

Options :

68634042065. 1
68634042066. 2
68634042067. 3
68634042068. 4

Question Number : 18 Question Id : 68634010656 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'A's father 1s 'B's son. C 1s the paternal Uncle of A and D 1s the brother of B. How 1s D related to C?
1. Son
2. Nephew
3. Brother

4. Uncle

Options :

68634042069. 1
68634042070. 2
68634042071. 3
68634042072. 4

Question Number : 18 Question Id : 68634010656 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'A's father 1s 'B's son. C 1s the paternal Uncle of A and D is the brother of B. How is D related to C?

1. Son

| B

. Nephew
3. Brother

4. Uncle

Options :

68634042069. 1
68634042070. 2
68634042071. 3
68634042072. 4

Question Number : 19 Question Id : 68634010657 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Complete the following number series.

2o 5 ¥ 23,312

1. 37

| )

.41
3.43
4. 33

Options :

68634042073. 1
68634042074. 2
68634042075. 3
68634042076. 4

Question Number : 19 Question Id : 68634010657 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Complete the following number series.

pl o B 1508 0 2t e [

1.37

[ ]

.41



Options :

68634042073. 1
68634042074. 2
68634042075. 3
68634042076. 4

Question Number : 20 Question Id : 68634010658 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Statement: A physics teacher in the class announced to keep a copy of concepts of physics written by her.
Agsumptions:
I. The book is well-written

II. Every student can afford to buy the book

1. If only I 1s implictt

]

2. If only IT 1s implieit
3. If neither I nor IT 1s implicit

4. If both I and IT are implicit

Options :

68634042077. 1
68634042078. 2
68634042079. 3
68634042080. 4

Question Number : 20 Question Id : 68634010658 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Statement: A physics teacher in the class announced to keep a copy of concepts of physies written by her.
Assumptions:
I. The book is well-written

II. Every student can afford to buy the book

L. If only I is implicit

| ]

 If only 11 15 implicit
3. If neither I nor II 1s implicit
4. If both I and II are implicit

Options :
68634042077. 1



68634042078. 2
68634042079. 3
68634042080. 4

Question Number : 21 Question Id : 68634010659 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Musical Instrument)| (Instrumentalists)
A |Sarod 1. |Bismillah Khan
B. |Shehnai IT. |Ravi Shankar
C. |Sitar 11T |JAmjad Ali Khan|
D. |Tabla IV, |Zakir Hussain

Choose the correct answer from the options given below:

1. A-IV. B-1. C-II, D-ITI

| )

AL B-1L C-IV. D-II
3. A-IIL, B-1. C-I1, DIV
4. A-L. B-III. C-II, D-IV

Options :

68634042081. 1
68634042082. 2
68634042083. 3
68634042084. 4

Question Number : 21 Question Id : 68634010659 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
(Musical Instrument)| (Instrumentalists)
A |Sarod 1. |Bismaillah Khan
B. |Shehnai IT. |Ravi Shankar
C. |Sitar IIT. |Amjad Ali Khan|
D. |Tabla IV, |Zakir Hussain

Choose the correct answer from the options given below:

1. A-IV, B-1. C-II, D-II1

[ ]

CACLL B-LL C-IV. D-TT
3. A-IIL B-1. C-I1. DIV
4. A-L. B-III, C-1I, D-IV

Options :

68634042081. 1

68634042082. 2

68634042083. 3
68634042084. 4

Question Number : 22 Question Id : 68634010660 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: In 'Kharif' crop season. Crops are sown in the month of June/July and harvested in the months of
September/October.

Statement IT: Example of 'Kharif' crops are wheat. peas. mustard. sesame.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement [ and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is imncorrect
4. Statement I is incorrect but Statement II is correct
Options :
68634042085. 1
68634042086. 2

68634042087. 3
68634042088. 4



Question Number : 22 Question Id : 68634010660 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: In 'Kharif crop season. Crops are sown in the month of June/July and harvested in the months of
September/October.

Statement IT: Example of 'Kharif' crops are wheat. peas. mustard. sesame.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

| ]

. Both Statement I and Statement II are incorrect
3. Statement I 1s correct but Statement II is incorrect
4. Statement [ is incorrect but Statement II is correct
Options :
68634042085. 1
68634042086. 2

68634042087. 3
68634042088. 4

Question Number : 23 Question Id : 68634010661 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Repo rate is the rate. at which RBI lends short-term money to the banks against security.
Statement IT: Reverse repo rate is always 100 base point, 1% less than Repo rate.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

| )

. Both Statement I and Statement II are incorrect
3. Statement I 15 correct but Statement IT is mecorrect

4. Statement I is incorrect but Statement II is correct

Options :

68634042089. 1
68634042090. 2
68634042091. 3
68634042092. 4

Question Number : 23 Question Id : 68634010661 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Repo rate is the rate. at which RBI lends short-term money to the banks against security.
Statement IT: Reverse repo rate is always 100 base point, 1% less than Repo rate.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is mcorrect
4. Statement I 1s incorrect but Statement IT 1s correct
Options :
68634042089. 1
68634042090. 2

68634042091. 3
68634042092. 4

Question Number : 24 Question Id : 68634010662 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which Article of the Indian Constitution provides for equal opportunities for all citizen in public employment?
1. Article 22
2. Article 16
3. Article 20
4. Article 25

Options :

68634042093. 1
68634042094. 2
68634042095. 3
68634042096. 4

Question Number : 24 Question Id : 68634010662 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which Article of the Indian Constitution provides for equal opportunities for all eitizen in public employment?

1. Article 22

| B

. Article 16
3. Article 20
4, Article 25

Options :

68634042093. 1
68634042094. 2
68634042095. 3
68634042096. 4

Question Number : 25 Question Id : 68634010663 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII

(Defect of eve) |(Tyvpe of lens used to remove defect)
Myopia I. |Convex lens

Hypermetropia| II. [Bi-focal lens

Preshyopia ITT. |Cylindrical lenses

Astigmatism | IV, [Concave lens

ol ofw[>

Choose the correct answer from the options given below:

1. A-IIL, B-I. C-II. D-IV

| )

. A-1. B-IV. C-II, D-III
3. A-IV. B-1, C-I1I. D-II
4. A-IV. B-1, C-1I, D-III

Options :

68634042097. 1
68634042098. 2
68634042099. 3
68634042100. 4

Question Number : 25 Question Id : 68634010663 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII

(Defect of eve) |(Tyvpe of lens used to remove defect)
MMyopia I. |Convex lens

Hvpermetropia| I [Bi-focal lens

Presbyopia III. |Cvlindrical lenses

Astigmatism | IV. [Concave lens

o[ ofw[>

Choose the correct answer from the options given below:

1. A-IIL, B-1. C-II. D-IV

[ ]

CA-L B-IV, C-I1, D-ITI
3. A-IV. B-1. C-1II. D-I1
4. A-IV. B-1, C-I1, D-ITI

Options :

68634042097. 1

68634042098. 2

68634042099. 3
68634042100. 4

Part B: M Ed

Section Id : 686340212
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340356
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634010664 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



NCTE stands for.

1. National Council for Teacher Education

2

. National Council for Technical Education
3. National Comumittee for Teacher Education

4, National Committee for Technical Education

Options :

68634042101. 1
68634042102. 2
68634042103. 3
68634042104. 4

Question Number : 26 Question Id : 68634010664 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

NCTE &1 G31 -TTH &1 §RTT |

1. A SR BR SR T

2. AW HI3 A BR Cfadhd T heH
3. YT BT BR TR ToBh

4, YA HHE BR T T

Options :

68634042101. 1
68634042102. 2
68634042103. 3
68634042104. 4

Question Number : 27 Question Id : 68634010665 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
"Project Method' 1s endorsed by:
1. Naturalism
2. Idealism
3. Empiricism

4. Pragmatism

Options :
68634042105. 1



68634042106. 2
68634042107. 3
68634042108. 4

Question Number : 27 Question Id : 68634010665 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Urolge fafer &1 S 3 9gldar g2

1. Upiddg
B IR
3. YT
4. YgISHaE

Options :

68634042105. 1
68634042106. 2
68634042107. 3
68634042108. 4

[

Question Number : 28 Question Id : 68634010666 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following cannot be associated with Gandhs :

A. My experiments with truth
B. Hind Swaraj

C. Discovery of India

D. Nai Talim

Choose the most appropriate answer from the options given below:

1. A and B only
2. B and D only
3. C only
4. D only

Options :

686340421009. 1

68634042110. 2

68634042111. 3
68634042112. 4

Question Number : 28 Question Id : 68634010666 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

g1 & B il ol A efd 18T 7

A 0 & 91Y T FGAT
B. g Ww

C. YRd UF Gl

D. 75 dIeiH

1= fau e fdm el & 9 968 9ugad IR DI 90 B

1. $ad A 3R B
2. %4d B 3R D
3.%dd C
4.%dd D

Options :

68634042109. 1

68634042110. 2

68634042111. 3
68634042112. 4

Question Number : 29 Question Id : 68634010667 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"Man 1s born free but everywhere he is in chains'-is a statement by.

1. Abraham Lincoln
2. Rouessau
3. Paulo Freire
4. JTohn Dewey

Options :

68634042113. 1

68634042114. 2

68634042115.3
68634042116. 4

Question Number : 29 Question Id : 68634010667 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UE [HHP] HYA - T &1 O WA 51 § TR 81 3R 98 afsyl I oasI g3 g
1. 3fsiTeH fefep
34l
O3l T
4. 51 St
Options :
68634042113. 1
68634042114.2

68634042115. 3
68634042116. 4

| )

[FN]

Question Number : 30 Question Id : 68634010668 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the Gestalt Principles of Perception as per their patterns of seeing.
A. Figure-ground
B. Proximity
C. Similarity
D. Closure

Choose the correct answer trom the options given below:
1.D,C; B,A
2.AB.C.D
33JACB.D
4.B.C.A.D

Options :

68634042117. 1
68634042118. 2
68634042119. 3
68634042120. 4

Question Number : 30 Question Id : 68634010668 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TRETee & YLD & (gH] B 3% od & & HH gt
A. STPIA- JBYH
B. Fdbed

C. FHAT
D. A

=i fqu e faeedl # 9 9ed Sugad SR Bl 99 DI

1.D.C.B.A

[ )

AB.C. D
3JAC.B.D
4 B.C.A.D

Options :

68634042117. 1
68634042118.2
68634042119. 3
68634042120. 4

Question Number : 31 Question Id : 68634010669 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Dr. Zakir Hussian was associated with:

1. Jamia Millia Islamia
2. Banaras Hindu University
3. Kashi Vidyapith
4, Usmania University

Options :

68634042121. 1

68634042122. 2

68634042123.3
68634042124. 4

Question Number : 31 Question Id : 68634010669 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ST, SR g4 oy @5 a1y aiferd o
1. STfer fEfeema St

 SRY g fayfaamm

e fgerdie

g fayfaemer

| )

L

=

Options :

68634042121. 1
68634042122. 2
68634042123. 3
68634042124. 4

Question Number : 32 Question Id : 68634010670 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

'Amar Sonar Bangla'-the national anthem of Bangladesh is written by.

1. Muyjib-ur-Rehman

2. Naziul-Islam

L]

. Rabindranath Tagore
4. Sharatchandra Chatterji
Options :
68634042125. 1
68634042126. 2

68634042127. 3
68634042128. 4

Question Number : 32 Question Id : 68634010670 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'SR R a1 SHeTG Rl &1 g M4 foe foran
1. oligiga™
2. TS
3. gAY SR
4, SRS gt

Options :



68634042125. 1
68634042126. 2
68634042127. 3
68634042128. 4

Question Number : 33 Question Id : 68634010671 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Learning outcomes are measurable.

Reason R: Whatever cannot be measured must not be a learning outcome.

In the light of the above statements. choose the correct answer trom the options given below:
1. Both A and R are true and R 1s the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A
3. A s true but R 1s false

4. A is false but R 1s true

Options :

68634042129. 1
68634042130. 2
68634042131.3
68634042132. 4

Question Number : 33 Question Id : 68634010671 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-9 3 U AU T §: U@ SHIUPHUT (Assertion A) & $9 1 [0REd & O THRT 39D HRUT (Reason R) & T
af

HfUDHYT A AR Ufiima T ST aSA B
BRI R: Ol e I A1 781 ol Fbal i wiawd el 61 gobdl|
SRl HY & 3Tl H, i fGu 7Ty fasedl § 9 a8 ugad 3R &l 99 DIy

1. AR REH GO E IR R AT TE TR ©

2. ASRREH T 8 3R R AT T aarem =81 §

3. A9 s OfpR 3T R

4. AT g APIRIT®

Options :

68634042129. 1
68634042130. 2
68634042131. 3
68634042132. 4

Question Number : 34 Question Id : 68634010672 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following method's are used Prominently in science teaching?

A. Lecture method

B. Story telling method

C. Case study method

D. Heuristic method

E. Problem solving method

Choose the most appropriate answer from the options given below:
1. A. B only
2.B.C only
3. A. Conly
4.D. E only
Options :

68634042133. 1
68634042134. 2



68634042135.3
68634042136. 4

Question Number : 34 Question Id : 68634010672 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S99 @ 1 I fafer fagm e & forg v U 3 waiv &1 oirl 82

A, UFR fafy
B. ®eHI G Pl fafd
Cc. Hg el fafy

D. §gRIEs fafa

E. JrE1 g1 fafy
1= fau e fde el & 9 968 9ugad IR DI 99 B

1. Pad A. B
2.%ad B. C
3.%0d A.C
4.%0d D.E

Options :

68634042133. 1
68634042134. 2
68634042135.3
68634042136. 4

Question Number : 35 Question Id : 68634010673 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Trial and Error method proposed by.

1. Jean Piaget

[

. Leo Vygotsky

L]

.E. L. Thorndike

4. Albert Bandura

Options :

68634042137. 1
68634042138. 2
68634042139. 3
68634042140. 4



Question Number : 35 Question Id : 68634010673 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TN SR ot fafey o < o
1. S s
ferat argTieEt
5. 70 USRS
3feae g5

[

L]

=Y

Options :

68634042137. 1
68634042138. 2
68634042139. 3
68634042140. 4

Question Number : 36 Question Id : 68634010674 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

'Sa Vidya ya ', The Education is the one that

1. Jagritaye (Awakens)

| )

. Mokshaye (Salvation)

%]

. Vimuktaye (Liberates)

=

. Jnanaye (Knowledgeable)

Options :

68634042141. 1
68634042142.2
68634042143.3
68634042144. 4

Question Number : 36 Question Id : 68634010674 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



oifgemar o fegeggw
1. ST (STl §)
2. Ted: (e UaH Rt )
3. format: (qfe wer PRl ©)
4. JA: (I W Bl 8)

Options :

68634042141. 1
68634042142.2
68634042143. 3
68634042144. 4

Question Number : 37 Question Id : 68634010675 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: Children who grow up in homes filled with harsh punishment and family violence are more
likely to use aggression.

Statement IT: Aggression should not be confused with assertiveness. which means affirming a legitimate
right.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement [ i3 incorrect but Statement II 1s correct

Options :

68634042145. 1
68634042146. 2
68634042147.3
68634042148. 4

Question Number : 37 Question Id : 68634010675 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CIEKARAIE RS

UYL I T Ol 3T IR 1 §9 BId © 9Ie] PoR o8 AR Tiaie fear w{i g1, 399 gRI a1
SR AU a1 ST |

S 11 HHHEGA B Hyarddmal ¥ Yiid 78 &1 Tifen, Fyaersa &1 o et aifere 53 & foo
Fyayd® ¢ BBl

SRIGd YA & AP 5, A [SU U [dbed] § I ol 30 B 994 DI

1. BYT I AR I G 9 &
2. HYF 1 AR EHT T &
3. BYTI 9D B, AfbT HYT I ST &

4. PYTI HFI L. AT P I T ©

Options :

68634042145. 1
68634042146. 2
68634042147. 3
68634042148. 4

Question Number : 38 Question Id : 68634010676 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A | Shiksha aur Gyvan I | Anil Sadgopal
B. [Shiksha aur Janandolan II. | Krishna Kumar
g [ishememBadatav bl o oy
Sawal
D. | Pangu Mastishk IV. | Susant Guntilak

Choose the correct answer from the options given below:
1. A-II B-1II C-I D-IV
2. A-1 B-II C-III D-IV
3. A-II B-IV C-I D-III
4. A-IV B-III C-II D-I

Options :
68634042149. 1



68634042150. 2
68634042151. 3
68634042152. 4

Question Number : 38 Question Id : 68634010676 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 9=t 11 9 e Sifey

Hel 1 T I
A [TTET 3R 9 N EEEERIEIN
B. [[18M 3R Si3fiaied | IL [ $aR
C. [F1& & 95ad &1 Garo)| 1L [TreET T
D. [d71 A& IV. [g211d ordaa|
fafaiad fowedl & T U8l SR &1 99 Difog -

1. A-IT B-III C-I D-IV

|

AT B-IT C-IIT D-IV
3. A-IT B-IV C-I D-III
4. A-IV B-III C-II D-I

Options :

68634042149. 1

68634042150. 2

68634042151. 3
68634042152. 4

Question Number : 39 Question Id : 68634010677 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The school of Gestalt Psychologists is known as:

1. Asian School of Psychology

[

. German School of Psychology
3. Indian School of Psychology
4. Russian School of Psychology

Options :

68634042153. 1
68634042154. 2
68634042155.3
68634042156. 4



Question Number : 39 Question Id : 68634010677 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TReTee TS SUar S Sl 3:
QRS TR Hved

 URA FAIGTH 9™

=4 A dveE

Options :

68634042153. 1
68634042154. 2
68634042155. 3
68634042156. 4

—

[

L]

=S

Question Number : 40 Question Id : 68634010678 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Delor's commission appointed by UNESCO recommends to base education on four pillars : Learning to know:,
Learning to do. Learning to be. the fourth pillar 1s :

1. Learning to live happy
2. Learning to die happily
3. Learning to live together
4. Learning to survive

Options :

68634042157. 1

68634042158. 2

68634042159. 3
68634042160. 4

Question Number : 40 Question Id : 68634010678 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UNESCO GRT FFRIa 1 1R simenid SaR e & SruR e IR Wi w snuifia 8. {57 8- o
& ToTq ST, A & g SR, &7 & fog iR, ST sy S a1 e

gl Sita wii- & ferg sty
G T U A & ey 3fenm
Y- g & e iy

&= 35+ & ferg sifermm

—

| )

(5]

=

Options :

68634042157. 1
68634042158. 2
68634042159. 3
68634042160. 4

Question Number : 41 Question Id : 68634010679 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Social mobility is the crucial force for the social change.

Statement IT: For the national integration. social mobility is the only required thing.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect

4. Statement [ is incorrect but Statement II is correct

Options :

68634042161. 1
68634042162. 2
68634042163. 3
68634042164. 4

Question Number : 41 Question Id : 68634010679 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. PUTI RIS TS
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Options :

68634042161. 1
68634042162. 2
68634042163. 3
68634042164. 4

Question Number : 42 Question Id : 68634010680 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following phases of Psychosexual development in ascending age order.

A Anal

B. Genital
C. Latency
D. Oral

E. Phallic

Choose the correct answer from the options given below:

1.D.B,C.E. A
2.AB.C.ED
3DAECEB
4B D CrE A

Options :

68634042165. 1

68634042166. 2

68634042167. 3
68634042168. 4



Question Number : 42 Question Id : 68634010680 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o g & g val &1 &9 1 Iemsul

A TS
B. SHH®
C. a1

il

1= fau e fde el & 9 998 9ugad IR DI 99 B

1.D.B.C.E.A
2.A. BB D
3D AECSE
4.B.D,C.E.A
Options :
68634042165. 1
68634042166. 2

68634042167. 3
68634042168. 4

Question Number : 43 Question Id : 68634010681 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Psycho-Analytical Theory of Personality is given by.

1. Leo Vygotsky

[

. Jean Piaget

L¥ 5]

. Abraham Maslow
4. Sigmund Freud

Options :

68634042169. 1
68634042170. 2
68634042171. 3
68634042172. 4

Question Number : 43 Question Id : 68634010681 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634042169. 1
68634042170. 2

68634042171. 3
68634042172. 4
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L

Question Number : 44 Question Id : 68634010682 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

National Literacy Mission was started in.

1. 1966

b2

. 1976
3. 1986
4, 1956

Options :

68634042173. 1
68634042174. 2
68634042175. 3
68634042176. 4

Question Number : 44 Question Id : 68634010682 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P AR e 1 o a1d $a g Ul

1. 1966

|

. 1976
3. 1986
4. 1956

Options :
68634042173. 1



68634042174. 2
68634042175.3
68634042176. 4

Question Number : 45 Question Id : 68634010683 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the important events as per their occurence.

A. Peer relationship
B. Mentoring

C. Schooling

D. Toilet training
E. Feeding

Choose the correct answer from the options given below:
1LABCBDE
2B.CAED
JC.BADE
4. E.D C.A B

Options :

68634042177. 1
68634042178. 2
68634042179. 3
68634042180. 4

Question Number : 45 Question Id : 68634010683 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A T & 91y HaY
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C. Td Sl
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- feu T fd@edl # 9 969 S9gad SR DI 944 ST
1.A,B,C,D,E
2.B,C,A,E,D
3.C.B.A.D,E

4. E.D.C.A.B

Options :

68634042177. 1
68634042178. 2
68634042179. 3
68634042180. 4

Question Number : 46 Question Id : 68634010684 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statement:
Statement I: Sign language does not have voice.
Statement IT: Sign language having its own grammar and vocabulary.
In the light of the above statements. choose the most appropriate answer from the options given below
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II 18 incorrect
4. Statement I is incorrect but Statement II is correct
Options :
68634042181. 1
68634042182. 2

68634042183.3
68634042184. 4

Question Number : 46 Question Id : 68634010684 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042181. 1
68634042182. 2
68634042183.3
68634042184. 4

Question Number : 47 Question Id : 68634010685 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who said- "school is the mimiature of a society."

1. White head

[ )

. J. 1. Rousseau
3. John Dewey
4. Paulo Freire

Options :

68634042185. 1
68634042186. 2
68634042187. 3
68634042188. 4

Question Number : 47 Question Id : 68634010685 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634042185. 1
68634042186. 2

68634042187. 3
68634042188. 4

| )

L

Question Number : 48 Question Id : 68634010686 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The learner personally monitors his’her own learning. assimilates the required changes accommodates and
adapts to new changes. This is known as.

1. Assessment of Learning

| )

. Assessment as Learning
3. Assessment for Learning
4. Assessment by Learning

Options :

68634042189. 1
68634042190. 2
68634042191. 3
68634042192. 4

Question Number : 48 Question Id : 68634010686 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042189. 1
68634042190. 2
68634042191. 3
68634042192. 4

Question Number : 49 Question Id : 68634010687 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A: Naturalism as school of thought talks about human and nature relationship and its interaction.
Reason R: Human being can be nurtured only in nature.
In the light of the above statements. choose the most appropriare answer from the options given below:
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A
3. A is correct but R 1s not correct
4. A 18 not correct but R is correct
Options :
68634042193. 1
68634042194. 2

68634042195. 3
68634042196. 4

Question Number : 49 Question Id : 68634010687 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042193. 1
68634042194. 2
68634042195. 3
68634042196. 4

Question Number : 50 Question Id : 68634010688 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

According to J.F. Herbart.

1. Teaching is Aut.

[

. Teaching 1s Science.
3. Teaching 1s Value.
4. Teaching is Logic.

Options :

68634042197. 1
68634042198. 2
68634042199. 3
68634042200. 4

Question Number : 50 Question Id : 68634010688 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042197. 1
68634042198. 2
68634042199. 3
68634042200. 4
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Question Number : 51 Question Id : 68634010689 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The University Education Commission-1948 was headed by:

1. L. Mudadiar

[ )

. Dr. 5. Radhakrishnan
3. D. S. Kothari
4. 1. P. Naik

Options :

68634042201. 1

68634042202. 2

68634042203. 3
68634042204. 4

Question Number : 51 Question Id : 68634010689 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fasyfaemera fRIam SMaIM-1048 DT feded e i 2|
1. Uel. HafermrR
2. T, UG
3. 31 0. BIBRI

4. 9. 4t A1

Options :
68634042201. 1



68634042202. 2
68634042203. 3
68634042204. 4

Question Number : 52 Question Id : 68634010690 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Self actualization is at the top most level in Maslow's hierarchical structure of needs.
Statement IT: One can attain self-actualization even without satisfying physiological needs.

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both Statement I and Statement I are true

| )

. Both Statement I and Statement I are false
3. Statement I is correct but Statement II 1s false
4, Statement [ is incorrect but Statement II is true
Options :
68634042205. 1
68634042206. 2

68634042207. 3
68634042208. 4

Question Number : 52 Question Id : 68634010690 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634042205. 1
68634042206. 2
68634042207. 3
68634042208. 4

Question Number : 53 Question Id : 68634010691 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following platform are responsible for quality education?

A NAAC

B. EMI5

C. UDISE

D. MOOC

E. SWAYAM

Choose the correct answer from the options given below:

1. A. D only

[ )

.C,D. E only
3.A.B. Conly

4.B. C.E only

Options :

68634042209. 1
68634042210. 2
68634042211. 3
68634042212. 4

Question Number : 53 Question Id : 68634010691 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A NAAC

B. EMIS

C. UDISE

D. MOOC

E. SWAYAM

-4 fau T faeedl # 9 96l 39gad SR B 944 SIfw:
1. ®dd A, D
2.%del C,D,E
3.%d0 A B.C
4.%dd B.C.E

Options :

68634042209. 1
68634042210. 2
68634042211. 3
68634042212. 4

Question Number : 54 Question Id : 68634010692 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

According to "Learning 1s a process of progressive behaviour adaptation.

1. Construetivist

b2

. Behaviorist
3. Pragmatist
4. Humanist

Options :

68634042213. 1
68634042214.2
68634042215. 3
68634042216. 4

Question Number : 54 Question Id : 68634010692 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634042213. 1
68634042214, 2

68634042215. 3
68634042216. 4

| )
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Question Number : 55 Question Id : 68634010693 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a stage in psycho-sexual development?

A. Oral

B. Sensori motor
C. Genital

D. Anal

E. Phallic

Choose the correct answer from the options given below:

1. B only

[ )

.C and D only
3. Aand E only
4. E only

Options :

68634042217. 1
68634042218. 2
68634042219. 3
68634042220. 4

Question Number : 55 Question Id : 68634010693 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. %dd B
2. %ad € 3R D
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Options :
68634042217. 1
68634042218 2

68634042219. 3
68634042220. 4

Question Number : 56 Question Id : 68634010694 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Gestalt Psychologists-

1. are stimulus-response theorists.

| )

. do not separate sensation of an object from its meaning.
3. are conditioning behaviorists.
4. believe in connectionism.

Options :

68634042221. 1
68634042222. 2
68634042223. 3
68634042224 4

Question Number : 56 Question Id : 68634010694 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634042221 1
68634042222. 2

68634042223. 3
68634042224. 4
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Question Number : 57 Question Id : 68634010695 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Heuristic method of teaching is also known as:

1. Project method

(3=

. Demonstration method
3. Lecture method
4. Discovery method
Options :
68634042225. 1
68634042226. 2

68634042227. 3
68634042228. 4

Question Number : 57 Question Id : 68634010695 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e 1 sgRfEee fafd 1 iR &9 7 4 o &
1. ioige fafy
vexi fafy
e fafe
4. @ fafg

Options :
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68634042225. 1
68634042226. 2
68634042227. 3
68634042228. 4

Question Number : 58 Question Id : 68634010696 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Sex 1s biological construct whereas Gender 1s a sociologieal construct.

Statement IT: Sex and Gender. both are natural phenomenon.

In the light of the above statements. choose the correct answer from the options given below

1. Statement I is correct but Statement II is true

[ ]

. Statement [ is correct but Statement 1T is false

L¥¥]

. Statement I is correct but Statement II is false

4. Statement I is incorrect but Statement IT 1s true

Options :

68634042229. 1
68634042230. 2
68634042231. 3
68634042232. 4

Question Number : 58 Question Id : 68634010696 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042229. 1
68634042230. 2
68634042231. 3
68634042232. 4

Question Number : 59 Question Id : 68634010697 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Every intellectual activity involves a general factor 'g' which is shared with all the intellectual activities and a
specific factor 's" which it shares with none. The above theory was propounded by-

1. Thurston

| )

. Guilford
3. Gardner
4. Spearman

Options :

68634042233. 1
68634042234.2
68634042235. 3
68634042236. 4

Question Number : 59 Question Id : 68634010697 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634042233, 1
68634042234. 2

68634042235. 3
68634042236. 4

| )
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Question Number : 60 Question Id : 68634010698 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which 1s not the part of a Lesson Planning?
1. Objectives
2. Learning activity
3. Recapitulation
4. School management
Options :
68634042237. 1
68634042238. 2

68634042239. 3
68634042240. 4

Question Number : 60 Question Id : 68634010698 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042237. 1
68634042238.2
68634042239. 3
68634042240. 4

Question Number : 61 Question Id : 68634010699 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Psycho Analytical Theory 1. | Maslow
Factor Theorv of Personality | II. | Allport
Hierarchy of Needs ITI. | Ereud
Trait Theory of Personality | IV. | Cattell

T REE

Choose the correct answer trom the options given below:

1. A-IL. B-III, C-IV, D-I

| ]

AL B-IV. C-1. D-IT
3. A-IL B-I. C-III. D-IV
4. A-IT1. B-1I, C-1. D-IV

Options :

68634042241. 1
68634042242. 2
68634042243. 3
68634042244. 4

Question Number : 61 Question Id : 68634010699 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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CA-IIIL B-IV. C-1. D-II
3. A-IL B-I. C-III. D-IV
4. A-III. B-II. C-I. D-IV

Options :

68634042241. 1

68634042242 2

68634042243. 3
68634042244. 4

Question Number : 62 Question Id : 68634010700 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

This branch of Philosophy deals with the production, organisation and distribution of knowledge

1. Metaphysics

| B

. Axiology

Lad

. Epistemology
4. Logic

Options :

68634042245. 1
68634042246. 2
68634042247. 3
68634042248. 4

Question Number : 62 Question Id : 68634010700 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



<Y B a8 IR ol I & Hoi, See 3R a9 gefid 8. Seand! -

T
¥

4. THITA

Options :

68634042245. 1
68634042246. 2
68634042247. 3
68634042248. 4

Question Number : 63 Question Id : 68634010701 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The concept of 'Cultural Capital' is given by.

1. C. Aitchison

| )

. Michael Apple

Lad

. Pierre Bourdieu
4. R. JTenkins

Options :

68634042249. 1
68634042250. 2
68634042251. 3
68634042252. 4

Question Number : 63 Question Id : 68634010701 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A iae doll &1 Sy e faar g-
1. 91, vefe=a
. HigP e YHd
TR ERS
4, 3R Wi-p=g

Options :
68634042249. 1

| )

L]



68634042250. 2
68634042251. 3
68634042252. 4

Question Number : 64 Question Id : 68634010702 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Nomuinal Scale] [ |Ranking of Data
Eatio Scale II. | Equal Units of Measurement

Interval Scale | III. | Scale with true zero
Ordinal Scale | IV. | Counted data

REE

Choose the correct answer from the options given below:

1. A-III, B-1. C-IV. D-II

| )

CA-IV, B-IIIL C-I1, D-I
3. A-IV. B-1, C-III. D-II
4, A-II, B-1IL. C-1. D-IV

Options :

68634042253. 1
68634042254 2
68634042255. 3
68634042256. 4

Question Number : 64 Question Id : 68634010702 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1 1 Yl 1 ¥ fieH sifore

T I T I
T gEEr | L [Ser @l dd

T O 1L (510 &1 99H garal
SH=dd UHMFT | 111 [aRdfde 3 Tigd UaH]
oiad UaET | IV [Tl T g get
frafeed fasedl & 9 981 9Tk &1 99 Siful :

1. A-III, B-1. C-IV. D-11

REE

|

CA-IV, B-IIIL. C-I1. D-I

3. A-IV. B-1, C-III. D-II

4. A-IL B-I1II. C-1. D-IV



Options :

68634042253. 1
68634042254. 2
68634042255. 3
68634042256. 4

Question Number : 65 Question Id : 68634010703 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in historical chronology:.

A, Plato

B. Locke

C. Dewey
D. Roussean
E. Anstotle

Choose the correct answer trom the options given below:
LAEBDE
2B ANB.C
3.B,D.E.A.C
4. C.E.D,B;A

Options :

68634042257. 1
68634042258. 2
68634042259. 3
68634042260. 4

Question Number : 65 Question Id : 68634010703 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafad &1 Ufaeiie Ses & gust

A e
B.dld
c.odl
D. ¥l

E. 3R]
- feu T fd@edl # 9 969 S9gad SR DI 944 ST

1.LAEBDC

L

EADB.C
3B.DEAC
4. C.E.D.B.A

Options :

68634042257. 1
68634042258. 2
68634042259. 3
68634042260. 4

Question Number : 66 Question Id : 68634010704 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Type-cum-trait approach synthesizes type and trait approaches. The prominent theorist 1s.
1. R. B. Cattell
2. Freud
3. Eyesenck

4. Allport

Options :

68634042261. 1
68634042262. 2
68634042263. 3
68634042264. 4

Question Number : 66 Question Id : 68634010704 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CI5U- - 7¢ SUNTH & 2159 auT ¢¢ SUFTH &1 AN Sid1 81 59 35 a1d Wi Risidios &-
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TS
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Options :

68634042261. 1
68634042262. 2
68634042263. 3
68634042264. 4

| )

L

Question Number : 67 Question Id : 68634010705 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Autistic Spectrum disorders (AUTISM) co-occurs with

1. Social disorder

b2

. Language disorder
3. Physical disorder
4, Cultural disorder

Options :

68634042265. 1

68634042266. 2

68634042267. 3
68634042268. 4

Question Number : 67 Question Id : 68634010705 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hfefes Wagd [dbR (sfew) fod & T g1
1. TSP fdPR
2. H1YT fabR
3. RN fdPR
4. Giepfds [dPR

Options :
68634042265. 1



68634042266. 2
68634042267. 3
68634042268. 4

Question Number : 68 Question Id : 68634010706 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The anatomy of our personality is built around the three unified and inter-relating System- Id.
Ego and Super Ego.

Statement IT: The above was propounded by Sigmund Freud.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect

4. Statement I 15 incorrect but Statement I is correct

Options :

68634042269. 1
68634042270. 2
68634042271. 3
68634042272. 4

Question Number : 68 Question Id : 68634010706 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042269. 1
68634042270. 2
68634042271. 3
68634042272. 4

Question Number : 69 Question Id : 68634010707 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Operant Behavior 1s
1. Elicited by known stimuli
2. Emitted by unknown stimuli
3. Not related to stimuli
4. Response to stimuli
Options :
68634042273. 1
68634042274. 2

68634042275. 3
68634042276. 4

Question Number : 69 Question Id : 68634010707 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042273. 1
68634042274. 2
68634042275. 3
68634042276. 4

Question Number : 70 Question Id : 68634010708 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The first Psychological laboratory at Leipzig was established by.

1. Jean Piaget

| )

.E. L. Thorndike
3. B.F. Skinner

4, Wilhelm Wundt

Options :

68634042277. 1
68634042278.2
68634042279. 3
68634042280. 4

Question Number : 70 Question Id : 68634010708 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e Ry wus w-ifg warTemer foa- wifud ®l-
1. Si foarst
2.3. Td. UHSTE®
3.9 U, R
4, fafega g

Options :



68634042277. 1
68634042278. 2
68634042279. 3
68634042280. 4

Question Number : 71 Question Id : 68634010709 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Gandhi opposed untouchability as a sin agamnst humanity.
Reason R: Gandhi wrote 'Annihilation of caste'.
In the light of the above statements. choose the correct answer trom the options given below:

1. Both A and R are true and R 1s the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A

3. Ais true but R is false

4. A is false but R is true

Options :

68634042281. 1
68634042282. 2
68634042283. 3
68634042284. 4

Question Number : 71 Question Id : 68634010709 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042281. 1
68634042282. 2
68634042283. 3
68634042284. 4

Question Number : 72 Question Id : 68634010710 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

MOOC stands for

1. Massive Open Online Course

(B

. Maximum Opportunity Operation Case

3. Minimum Observation Overt Case

e

. Major Office Operation Course

Options :

68634042285. 1
68634042286. 2
68634042287. 3
68634042288. 4

Question Number : 72 Question Id : 68634010710 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042285. 1
68634042286. 2
68634042287. 3
68634042288. 4

a—y
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Question Number : 73 Question Id : 68634010711 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

According to "Intelligence 1s the capacity to think well. to judge well and to be self-critical”

1. Spearman

b2

. Terman
3. Binet

4, Thurstone

Options :

68634042289. 1
68634042290. 2
68634042291. 3
68634042292. 4

Question Number : 73 Question Id : 68634010711 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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:

%

4. e

Options :



68634042289. 1
68634042290. 2
68634042291. 3
68634042292. 4

Question Number : 74 Question Id : 68634010712 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST II
A | Metaphysics 1. | Value and Ethics
B. | Axiology IT. | Validity of Argument
C. | Epistemology | II1. | Nature of Knowledge
D. |Logic IV | Substance and Eeality

Choose the correct answer from the options given below:

1. A-I. B-II, C-III. D-IV

| ]

. A-L B-III, C-IT. D-IV
3. A-IL B-III. C-IV. D-I
4. A-IV. B-1. C-I1I, D-IT

Options :

68634042293. 1
68634042294. 2
68634042295. 3
68634042296. 4

Question Number : 74 Question Id : 68634010712 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-I. B-II. C-III. D-IV

Ofa|w]=

| o

. A-I B-III. C-II. D-IV
3. A-IL B-III., C-IV. D-1
4, A-IV, B-1. C-III. D-II

Options :

68634042293. 1

68634042294. 2

68634042295. 3
68634042296. 4

Question Number : 75 Question Id : 68634010713 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Operation Blackboard was launched on the recommendations of

1. Kothari Commission

| B

. Chattopadhyay Commission
3. NEP-1986
4. NEP-2020

Options :

68634042297. 1
68634042298. 2
68634042299. 3
68634042300. 4

Question Number : 75 Question Id : 68634010713 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HTIRYH SIS Al [y B BTN U= <% (a1 741 47|
1. PIGRT HHE
. I HHEA

3. NEP-1986

| )

4, NEP-2020

Options :

68634042297. 1
68634042298. 2
68634042299. 3
68634042300. 4

Question Number : 76 Question Id : 68634010714 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which 1s not the example of Projective technique of personality assessment?

1. Dream Analysis

. Story telling

| )

3. Free Association
4, Observation

Options :

68634042301. 1
68634042302. 2
68634042303. 3
68634042304. 4

Question Number : 76 Question Id : 68634010714 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

578 O $F igad & AT &1 UAUTg dH-1 &1 32180 Tal ¢
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Options :
68634042301. 1



68634042302. 2
68634042303. 3
68634042304. 4

Question Number : 77 Question Id : 68634010715 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
Vishwa Bharat I | 5ir Syed Ahmed Khan
Aligarh Muslim University] 11 | Zakir Hussain
Jamia Millia Islamia III. | Rabindra Nath Tagore
Banaras Hindu University | IV. | Madan Mohan Malviva

REE

Choose the correct answer from the options given below:

1. A-II. B-I, C-III. D-IV

| )

A-L B-III, C-IV. D-II
3. A-IV. B-I1. C-I, D-III
4, A-I11, B-1. C-II. D-IV

Options :

68634042305. 1
68634042306. 2
68634042307. 3
68634042308. 4

Question Number : 77 Question Id : 68634010715 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 &1 g 1 e Sifor
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1. A-TI. B-I. C-1II. D-IV
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AL B-IIIL C-IV. D-II

3. A-IV. B-I1, C-I, D-III

4. A-III, B-1, C-II. D-IV



Options :

68634042305. 1
68634042306. 2
68634042307. 3
68634042308. 4

Question Number : 78 Question Id : 68634010716 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The resolution for free and compulsory education in Imperial legislative Council was brought by n
the year

1. Sir Syed Ahmed Khan, 1905
2. Gopal Krishna Gokhale. 1911
3. Annie Besant. 1917
4. M. K. Gandhi, 1937

Options :

68634042309. 1

68634042310. 2

68634042311. 3
68634042312. 4

Question Number : 78 Question Id : 68634010716 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U T f-ar] e o1 uxdrd grdifvad dforaifed sraf-aa 4 GRT T o o
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Options :

68634042309. 1
68634042310. 2
68634042311. 3
68634042312. 4

Question Number : 79 Question Id : 68634010717 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which statement 13 not true?

1. Learning 1s motivated by adjustment.

| B

. Learning is a never ending process.
3. Learning 1s a modification of experience.
4. Learning is a natural process.

Options :

68634042313. 1

68634042314. 2

68634042315.3
68634042316. 4

Question Number : 79 Question Id : 68634010717 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S8 U B T HYH I ol 6-

1. TR A gRT SHHRd il g |
ST T Sl = I g arell wishan g1
AT U 3Gl BT IS BT
e Ud P fds fdhare,

Options :

68634042313. 1
68634042314.2
68634042315. 3
68634042316. 4

| )

L
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Question Number : 80 Question Id : 68634010718 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following stages of Cognitive Development as propounded by Piaget.

A Pre-operational

B. Sensori motor

C. Concrete operational
D. Formal operations

Choose the correct answer from the options given below:
1.D-C-B-A
2A-C-D-B
3. B-D-C-A
4.B-A-C-D

Options :

68634042317. 1
68634042318. 2
68634042319. 3
68634042320. 4

Question Number : 80 Question Id : 68634010718 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[

MaTS GIR1 UK it faeTd & 9 siaw1si &l oH § gegu|

i feu U fas el § O 9ad SUgad IR &1 99 DI

LD<EsR=A
2.A-C-D-B
58 -5 - A
4.B-A-C-D

Options :

68634042317. 1

68634042318.2

68634042319. 3
68634042320. 4

Question Number : 81 Question Id : 68634010719 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Initially seven types of Intelligence were identified. later two more were added in this list of Multiple
Intelligence theory. given by

1. Thurstone
2. Lewin

3. Gardner
4. Kohler

Options :

68634042321. 1
68634042322. 2
68634042323. 3
68634042324 4

Question Number : 81 Question Id : 68634010719 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. PR

Options :

68634042321. 1

68634042322.2

68634042323. 3
68634042324. 4

| )
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Question Number : 82 Question Id : 68634010720 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
According to Jean Piaget, 'Schema' 1s -
1. Basic Building block of thinking
2. Basic structure of personality

3. Basic pattern of behavior

4, Basic cultural structure



Options :

68634042325. 1
68634042326. 2
68634042327. 3
68634042328. 4

Question Number : 82 Question Id : 68634010720 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
oI st & 3R BT giaT 8

1. 9l & &Hd T H Juch Tus

| )

AR & Hd W=
 AGR BT Jd HH

4. Td ik ]
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Options :

68634042325. 1
68634042326. 2
68634042327. 3
68634042328. 4

Question Number : 83 Question Id : 68634010721 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which were the salient features of the Dr. Zakir Hussain committee in 1937 ?

A. Mother toungue

B. Work Education

C. Three language formula
D. Learning by doing

E. Craft Education

Choose the correct answer from the options given below:

1. A.B. C only
2.A.B.D.E only
3.B.C.D only
4.B.C.A.E only

Options :

68634042329. 1

68634042330. 2

68634042331. 3
68634042332. 4



Question Number : 83 Question Id : 68634010721 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1037 H SR g9 9T & g&=0 da@ 1 47

A. T T

B. B4 fR1&f
c. v gz
D. B & ARG
E. ThIU< 9781

qr fau T fawedt ¥ 96l SR &1 99 S -
1. AU A. B, C
2.%dd A,B,D.E
3.%dd B.C.D
4.%dd B.C.A.E

Options :

68634042329. 1
68634042330. 2
68634042331. 3
68634042332. 4

Question Number : 84 Question Id : 68634010722 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The second stage of Cognitive Development according to Jean Piaget is.

1. Pre-operational
2. Formal operational
3. Concrete operational
4. Sensori motor

Options :

68634042333. 1

68634042334. 2

68634042335.3
68634042336. 4

Question Number : 84 Question Id : 68634010722 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sit ToaTel g1 W e faer & gart saeil H 9l &
1. Jd- Sicparad fawi
S ST MHS g

| )

[FS]

=

Options :

68634042333. 1
68634042334. 2
68634042335. 3
68634042336. 4

Question Number : 85 Question Id : 68634010723 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

According to Erik Erison the stage is related with Adolescence 1s -

1. Initiative v/'s Guilt

b2

. Identity v/s Role confusion

5]

. Intimacy v/s Isolation

e

. Generativity v/s Stagnation

Options :

68634042337. 1
68634042338. 2
68634042339. 3
68634042340. 4

Question Number : 85 Question Id : 68634010723 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR UREEA & 9R 570 9 &1 91 R0 [BREw1 ¥ Hafia g

1. Ugd S a1y diy

| )

. gedH §4919 UgdH Yifd

. STHTdl g9 S{erTa

[#5]

4. FAGHA §H RRRA

Options :



68634042337. 1
68634042338. 2
68634042339. 3
68634042340. 4

Question Number : 86 Question Id : 68634010724 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are Nastik school of Indian philosophy:.

A. Buddhism

B. Nyay Vaisheshik
C. Samkhya yoga
D. Jainism

Choose the correct answer from the options given below:

1. B only

[ ]

. C only
3. B and C only

4. A and D only

Options :

68634042341. 1
68634042342. 2
68634042343. 3
68634042344. 4

Question Number : 86 Question Id : 68634010724 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g8 O &F YRAIY 339 & Tifias duem ¥ Hefid 82

A g yd
B. 1T a9t
C. g g
D. O 5
-4 feu T fawetl & 9 969 S9gad TR D1 90 ST
1. Hda B
2. %4d C
3. %dd B3R C

4.%ad A3IRD



Options :

68634042341. 1
68634042342.2
68634042343. 3
68634042344. 4

Question Number : 87 Question Id : 68634010725 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Ink blot projective test was developed by.

1. Sigmund Freud

| B

. Jung Carl
3. Eyesenck

4. Herman Rorschach

Options :

68634042345. 1
68634042346. 2
68634042347. 3
68634042348. 4

Question Number : 87 Question Id : 68634010725 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el Uedl (S &iic) HeqUl ¢ [y [ Rid fdar U
1. ris was
2. A HIe
3. HETPH
4. TEA I
Options :

68634042345. 1
68634042346. 2
68634042347. 3
68634042348. 4

Question Number : 88 Question Id : 68634010726 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What higher order knowledge can make the difference between how well and quickly one's students learn
material?

1. Declarative
2. Rote
3. Meta cognition

4, Procedural

Options :

68634042349. 1
68634042350. 2
68634042351. 3
68634042352. 4

Question Number : 88 Question Id : 68634010726 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 3= YUt B ST A9 T 3 I0d B2 IHdl § [ S A Iore=i 9 st aie iR et
i

1. PUTHD / GUHTHD

| ]

SR
4. UihaTeT D

Options :

68634042349. 1
68634042350. 2
68634042351. 3
68634042352. 4

[#5]

Question Number : 89 Question Id : 68634010727 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Enrollment of Higher Education in India is low as compared to other developed countries of the
world.

Reason R: India 1s a developmg country.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A

3. A is true but R is false

4. A is false but R is true

Options :

68634042353. 1
68634042354. 2
68634042355. 3
68634042356. 4

Question Number : 89 Question Id : 68634010727 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-9 3 U AU T §: U@ SHIUPHUT (Assertion A) & $9 1 [0REd & O THRT 39D HRUT (Reason R) & T
af

HNBUT A: YR F F=a {261 & F A fay & o o fid 3xi &t et H 2|
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SWRIad HY- & 31l H, i Gy Ty fasedl § 9 968 Sugad 3R &l 99 Sifg:

1.AFRREI TG SRR AT Jel TRATE

2. ASRREHI A E 3R R A DI TSl AR 181 B

3. A9 s OfpR 3T R

4.A30Y eAPIRTAR

Options :

686340423531
68634042354.2
68634042355. 3
68634042356. 4

Question Number : 90 Question Id : 68634010728 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is not amongst Thorndike's three basic Laws of learning.

1. The Law of Effect

| )

. The Law of Exercise

L)

. The Law of lnsight
4. The Law of Readiness

Options :

68634042357. 1
68634042358. 2
68634042359. 3
68634042360. 4

Question Number : 90 Question Id : 68634010728 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 T 9 B yriss® & gR1 UM st & Fami & o ga Fomi 0 3 =8 5
L. 94T &1 a8
2. 3Ty BT +gH
3. 3fef® @1 g
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Options :

68634042357. 1
68634042358. 2
68634042359. 3
68634042360. 4

Question Number : 91 Question Id : 68634010729 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: We are born with moral understanding.

Reason R: According to Kohlberg. a child passes through distinctive stages of moral development.

In the light of the above statements. choose the correct answer trom the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A s true but R 1s false

4. A s false but R 1s true

Options :

68634042361. 1
68634042362. 2
68634042363. 3
68634042364. 4

Question Number : 91 Question Id : 68634010729 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-9 3 U AU T §: U@ SHIUPHUT (Assertion A) & $9 1 [0REd & O THRT 39D HRUT (Reason R) & T
af

HYBHYT A- 50 9P THA F TU AT S &
HRUR: Dlegddl P AR, TS g=] 10 [0H ™ & [dHal TRl 9 8l B o=l 3
SWRIad HY- & 31l H, i Gy Ty fasedl § 9 968 Sugad 3R &l 99 Sifg:

1.AFRREI TG SRR AT Jel TRATE
2. ARREHI I § 3R R. A DI Gol IS el ©

3.A9Y e AfbR 3T ®

4. AT SUPIRIAT

Options :

68634042361. 1
68634042362. 2
68634042363. 3
68634042364. 4

Question Number : 92 Question Id : 68634010730 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Pedagogy of Oppressed [. |John Dewey
Hind Swaraj II. |B. Bernstein

Democracy and Education| ITT. | M. K. Gandhi
Class, code and control IV, | Paulo Freire

EEE

Choose the correct answer from the options given below:

1. A-I. B-II, C-III. D-IV

2. A-IL B-I1I. C-1. D-IV

3. A-IV, B-IIL. C-1. D-II

4. A-IV, B-1I. C-III. D-I



Options :

68634042365. 1
68634042366. 2
68634042367. 3
68634042368. 4

Question Number : 92 Question Id : 68634010730 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 ¥ [ Sifor
TqA T T 10

USRSl 1% HuEs| L [§H gdl

fEc W il R

SHIch ! US TodeH | 1L [Here el
[ee. @18 IR @l IV [argal WY

fafarad fawent § T 96l SR &1 997 SO -

1. A-I. B-II. C-III. D-IV

ofafw]>

2. AL B-III. C-1. D-IV

3. A-IV. B-III. C-1. D-II

4. A-IV. B-II. C-III. D-I

Options :

68634042365. 1
68634042366. 2
68634042367. 3
68634042368. 4

Question Number : 93 Question Id : 68634010731 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Right to free and compulsory education to all the children of the age 6-14 years" is mentioned in.

1. Article - 46

| ]

. Article -21A

3. Article -16

4. Article -15



Options :

68634042369. 1
68634042370. 2
68634042371. 3
68634042372. 4

Question Number : 93 Question Id : 68634010731 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"6-14 HTE D1 31 & T T=di P IR U Har] e o1 ISR I8 H8l T o-
1. AEHTH-46
 3ffEfFTE-21A
3. EHTH-16
4. SAfEFTH-15
Options :
68634042369. 1
68634042370. 2

68634042371. 3
68634042372. 4

| S

Question Number : 94 Question Id : 68634010732 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following concepts as per their origin.

A. Common school system
B. Operation Blackboard

C. Basic Education

D. Education without Burden
E. Academic bank of credits

Choose the correct answer from the options given below:

1.LAB,C.D.E

| )

.C,A.B.D.E
3.6, BAE;D
4.B.A.C.D.E

Options :

68634042373. 1
68634042374. 2
68634042375. 3
68634042376. 4



Question Number : 94 Question Id : 68634010732 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafeiad vl &1 gd! YRS 814 & oH H Tuizy

A. I el HorTedl

B. 3URYH &IDaS

C. 9y e

D. e fen s

E. P sie g o5 pige

1 feu e fam et & 9 999 9ugdd IR P 99 SIT:

1.A;B,;€,D,E

|

.C,A.B.D.E

L&74])

CHBAED
4 B.A.C.D.E

Options :

68634042373. 1
68634042374. 2
68634042375. 3
68634042376. 4

Question Number : 95 Question Id : 68634010733 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Flander's Interaction Analysis Categories is divided into:

1. Teacher talk - Principal talk

b2

. Teacher talk - Pupils talk

3. Teacher talk - Parents talk

=

. Pupils talk - Parents talk

Options :

68634042377. 1
68634042378.2
68634042379. 3
68634042380. 4

Question Number : 95 Question Id : 68634010733 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634042377. 1
68634042378. 2
68634042379. 3
68634042380. 4

Question Number : 96 Question Id : 68634010734 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A | Buddhism I. | Mahavir Swami
B. | Jainisam II. | Gautam Buddh
C. | 5ikhism 11 | Prophet Muhammad|
D. |Islam IV, | Guru Nanak

Choose the correct answer trom the options given below:

1. A-I. B-II, C-III. D-IV

2. A-IV, B-I1L. C-II. D-I

3. A-IL. B-1. C-IV, D-III

4. A-I. B-II, C-IV, D-III

Options :

68634042381. 1
68634042382.2
68634042383. 3
68634042384. 4

Question Number : 96 Question Id : 68634010734 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor
T 1 T

aIg 4 1. [AEIdR Wi
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1. A-I. B-II. C-III. D-IV

ofolw>

2. A-IV. B-IIL C-II. D-I

3. A-IL B-1. C-IV., D-III

4. A-1. B-II. C-IV, D-III

Options :

68634042381. 1
68634042382. 2
68634042383. 3
68634042384. 4

Question Number : 97 Question Id : 68634010735 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The 'Mid Day Meal Scheme' was launched in the year-

1. 1996

[

. 1905
3.1994
4. 1997

Options :

68634042385. 1
68634042386. 2
68634042387. 3
68634042388. 4

Question Number : 97 Question Id : 68634010735 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TEATE HIoH gioHT AR $1 g A

1. 1996

| )

. 1905
3.1994
4, 1997
Options :
68634042385. 1
68634042386. 2

68634042387. 3
68634042388. 4

Question Number : 98 Question Id : 68634010736 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The Overhead Projector (OHP) 1s used for showing:

1. 5till Pictures

| )

. Moving Pictures
3. Transparencies
4. Videos

Options :

68634042389. 1

68634042390. 2

68634042391. 3
68634042392. 4

Question Number : 98 Question Id : 68634010736 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR B8 U&YS (OHP) @M & &1 1dl 6;
1. RR =
2. Iferd o=
3, gigut
4. fofsar

Options :
68634042389. 1



68634042390. 2
68634042391. 3
68634042392. 4

Question Number : 99 Question Id : 68634010737 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following as per their order of formation
A, University Grants Commission
B. Central Advisory Board of Education
C. National Council for Teacher Education

D. University of Delhi
E. National Council for Educational Research and Training

Choose the correct answer from the options given below:

1B, AR, &

| )

.A.B.C.D.E
3B, C.DEA
4.C; B, B; DA

Options :

68634042393. 1
68634042394, 2
68634042395. 3
68634042396. 4

Question Number : 99 Question Id : 68634010737 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1°B:BA B C

2

.A.B.C.D.E
3B.C.D.E.A
4.C.B.E.D.A

Options :

68634042393. 1
68634042394. 2
68634042395. 3
68634042396. 4

Question Number : 100 Question Id : 68634010738 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other 15 labelled as Reason R

Assertion A: NEP-2020. as policy document 1s committed to transform the quality of education in India in
time with constitutional provisions.

Reason R: Quality of education is always determined by the policy vision.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are true and R 1s the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A

3. A is correct but R is not correct

4, A is not correct but R is correct

Options :
68634042397. 1
68634042398. 2



68634042399. 3
68634042400. 4

Question Number : 100 Question Id : 68634010738 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A g BT [GU T &: U HUDYUT (Assertion A) P Y T [AIRAA § dI GIRT 3HP DRI (Reason R) P ¥U
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3.A9Y e AfbR 3T ®
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Options :

68634042397. 1
68634042398. 2
68634042399. 3
68634042400. 4



